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<RouterA> system-view

[RouterA] interface pos1/0/0

[RouterA-Pos1/0/0] ip address 8.0.0.2 255.255.255.0

[RouterA-Pos1/0/0] quit

[RouterA] ip route-static 5.7.6.1 24 8.0.0.1
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<RouterB> system-view

[RouterB] ipv6

[RouterB] interface pos1/0/0

[RouterB-Pos1/0/0] ip address 8.0.0.1 255.255.255.0

[RouterB-Pos1/0/0] quit

[RouterB] interface pos1/0/1

[RouterB-Pos1/0/1] ipv6é address 2001::1/64

[RouterB-Pos1/0/1] quit
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[RouterB] natpt address-group no-pat 6 5.7.6.1 5.7.6.10 mask 255.255.255.0
# BCENAT-PTRIZE

[RouterB] natpt prefix 0057:0006:: address-group no-pat 6

# ECERSIRES

[RouterB] natpt bound v4des_v6src static 5.7.6.1 2001::0002

# Bc B SIS

[RouterB] ip route-static 5.7.6.0 24 NULLO

[RouterB] ipv6 route-static 0057:0006:: 96 NULLO
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<RouterC> system-view

[RouterC] ipv6

[RouterC] interface pos1/0/0

[RouterC-Pos1/0/0] ipv6 address 2001::2/64

[RouterC-Pos1/0/0] quit

[RouterC] ipv6 route-static 0057:0006::96 2001 ::1
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